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1. (A) (1) Distinguish between “Financial Accounting” and “Cost Accounting”. 7
(1)) Explain advantages and limitation of uniform Costing. 7

OR
(1)  Explain “Functional Classification of cost”. 7
(i1))  Give the proper method of Costing of the following industries. 7

(1)  Interior decoration

(i)  Ship building Industry
(ii1) Advertising

(iv) Toy making

(v)  Gas supply Companies
(vi) Soft drink

(vii) Road transport

(viii) Brick works

(ix) Construction

(x) Hotels

(B) Select appropriate alternative : (Any four) 4
(1)  Which costing method is used in soap making company ?
(A) Process costing (B) Service costing
(C) Job costing (D) Batch costing
(2)  Which one of the following is not costing method ?
(A) Absorption costing (B) Contract costing

(C) Unit cost (D) Multiple cost
ME-101 9 P.T.O.



(3) Which Cost accounting method is used in Pharma- medicine industry ?
(A) Batch costing (B) Job costing
(C) Unit costing (D) Contract costing
(4) Telephone bill is included in which of the following expenses ?
(A) Semi-Variable (B) Variable
(C) Fixed (D) None of the above
(5) What is called when variable and fixed cost is included in Cost Accounts ?
(A) Absorption costing (B) Historical costing
(C) Marginal costing (D) Standard costing
(6) Costunit of Chemical industryis
(A) Per litre/Gallon/kg. (B) Perton/kg.
(C) Per barrel (D) Per kg./Quintal

2. (A) (i) From the following information calculate :
(i)  Economic ordering quantity
(i1)) Re-ordering stock level
(i11)) Minimum stock level
(iv) Maximum stock level
(v) Average stock level (on the basis of EOQ)
(vi) Safety stock level

(vil) Danger stock level

Three month consumption 1,250 units

Cost of placing an order %20

Annual carrying cost per unit %5

Price per unit %50

Ordering (delivery) Period 5 days to 15 days
Average daily consumption 15 units
Maximum daily consumption 20 units

Maximum time of emergency procurement 4 days
(1)) Explain the objectives of material control.

OR

ME-101 10



(1)

(i)

The following is information of Desai Ltd. for the month of September

2017. Prepare Stock Register using “LIFO” method. 7
Receipts :

1/9/2017 100 units at T 5 per unit

5/9/2017 300 units at T 6 per unit

20/9/2017 500 units at I 7per unit

25/9/2017 600 units at I 8 per unit

Issues :

10/9/2017 250 units

22/9/2017 400 units

28/9/2017 500 units.

State the advantages of “JIT” Approach . 7

(B) Select appropriate alternative ( Any four) : 4

ME-101

(1)

2)

€)

Re-order period : 4 to 8 weeks, Re-ordering level : 20,000 units, then what

will be the Maximum consumptions ?

(A) 2,000 units (B) 2,500 units

(C) 3,000 units (D) 5,000 units

Material consumption 4,80,000 units,

Opening stock 32,000 units,

Closing stock 64,000 units.

Then what will be the material purchase ?

(A) 4,48,000 units (B) 5,12,000 units

(C) 3,84,000 units (D) 6,12,000 units

If the minimum stock level and average stock level of raw material “A” are

5,000 units and 11,250 units respectively. Find out the economic-order

quantity (EOQ).

(A) 10,500 units (B) 12,500 units
(C) 11,500 units (D) 8,250 units
11 P.T.O.



(4) Ordering level — Average Consumption of Average Delivery Time=
(A) Maximum Level (B) Minimum Level
(C) Ordering Level (D) Average Level
(5) Abnormal Wastage at its cost price is -
(A) Absorbed in cost (B) Charged to Profit & Loss A/C
(C) Added to Material Cost (D) Included in factory Expenses.

(6) In which method final stock is valued at a price which is almost nearer to

current market price ?
(A) LIFO (B) FIFO
(C) Weighted Average (D) Fixed Price Method

3. (A) (i) From the following information of Amul Ltd. calculate labour turnover rate
on the basis of :
(1) Separation Method (2) Replacement method (3) Flux method (4) Find

equivalent annual transfer rate for each method.

Number of workers at the beginning of the year - 7,600
Number of workers at the end of the year - 8,400
Number of workers resigned during the year - 80
Number of workers retired during the year - 320

Number of workers newly appointed during the year - 1,500
(Of which 300 workers were taken under the expansion plan)

(i) What is meant by “Labour Turnover Rate” ? What are the causes of Labour
Turnover Rate ?

OR

(1)  Shivam has taken 80 hours to complete a job. The wage rate per hour is T 8.
If he has received T 768 as total wages according to Rowan plan, what
would be the amount of wages earned by him according to Halsey plan and
piece wage plan ?

(i) Explain the difference : “Time card and Job card”.

ME-101 12



(B) Select appropriate alternative (Any three) :

ME-101

(1)

(2)

€)

(4)

)

The following information has been obtain from the production department
of a factory :

Number of workers at the beginning of the year - 3,400

Number of workers who left during the year - 600
Total appointment during the year - 1000
Number of workers newly recruited - 200

Calculate labour turnover rate by replacement method.

(A) 21.22% B) 23%

(C) 22.22% (D) 23.22%

The standard time for a particular Job is 10 hours, Actual time taken is 8
hours, Wage rate per hour I 50, Direct material cost ¥ 200 and Factory
overheads is recovered at 80% of direct (labour) wages. Calculate factory
cost as per Halsey plan.

(A) 1,110 (B) 1,030

(C) 1,010 (D) 2,010

Which one of the following is not considered an ‘Incentive wage system’ ?
(A) Halsey Plan

(B) Rowan Plan

(C) Piece wages system with minimum guaranteed wages

(D) Group bonus or Profit Sharing Plan

Which of the following causes is not a genuine cause for “overtime work™ ?

(A) Increase in production targets not anticipated.

(B) Customer’s request / pressure for urgent delivery.

(C) Temporary Diversion of labour force to the inauguration ceremony.
(D) Labour shortage.

From which of the following incentive wage system, worker also gets share
in the profit and management ?

(A) Profit sharing (B) Halsey wage system

(C) Co-Partnership (D) Rowen wage system

13 P.T.O.



4. (A) The following information is available from the books of Satyam Company

Ltd.

ME-101

(1)
2)

3)

(4)

()

Company is having three production and two services departments.

A, B and C are production departments and X and Y are services

departments.

Total number of machine hour of production departments A, B and C are

5,000, 6,000 and 7,000 respectively.

Common Expenses Amount (%)

Indirect Wages 10,000

Depreciation on Machines 20,000

Supervision Expenses 15,000

Employee's State insurance contribution 20,000

Lighting Expenses 8,000

Power 40,000

Rent and Rate 18,000

Insurance of Machines 12,000

Other information :
Particulars A B C X Y
Direct materials (3) 5,000 | 4,000 | 3,000 700 500
Indirect materials () 2,000 | 1,600 | 1,200 | 1,000 800
Direct wages (%) 40,000 | 30,000 | 20,000 | 5,000 | 5,000
Cost of machines (%) 50,000 | 60,000 | 40,000 | 20,000 | 30,000
No. of workers 4 3 2 3 3
H. P. of machines 14 16 10 — —
No. of Light points 3 2 2 2 1
Space occupied (sq. ft.) | 40 30 50 20 40

14
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Expenses of Service Department X allocate in the proportion of direct
wages and expenses of service Dept. Y allocate in proportion of direct
material among production Dept. A, B and C.
You are required to calculate machine hour rate for each of three production
departments.
OR
Calculate the machine hour rate of machine No. 444 from the following
information : 14
(1) Rent of the factory per annum X 76,800
(Five other similar machines are arranged in the total space of the factory)
(2) Electricity for the factory (six months) ¥ 57,600
(Machine no. 444 uses 10 light points out of total 30 light points in the
workshop)
(3) Supervisor's salary (per month) ¥ 9,600
(Supervisor spend 3/4 of his time in the supervision of all machine equally)
(4) Wages of workers (per worker — per month) ¥ 11,520
(There are 6 workers in the factory who looks after all the machine equally)
(5) Labour Welfare Expenses (per worker — per annum ) ¥ 7,680
(6) Insurance premium of machine no. 444 (per annum ) I 21,440
(7) Hire purchase Instalment of machine no. 444 ¥ 64,000
(Including interest annually X 5,520)
(8) Repairing and maintenance of machine no. 444 (During useful life)
3 2,56,000
(9) Power consumption of machine no. 444 (per annum) < 1,92,000
(10) Power consumption of machine no. 444 is 4 units per hour and rate per unit
is¥ 6
(11) Price of machine ¥ 10,72,000
(12) Scrap value of machine X 76,800
(13) Installation charges I 28,800
(14) Useful life of machine 16 years.

ME-101 15 P.T.O.



(B) Select appropriate alternative : (Any three)

ME-101

(1)

2)

3)

(4)

)

Which methods are used for Segregation of Semi-Variable Overheads ?
(A) Simultaneous Equations Method

(B) Indirect Method

(C) Trial and Errors Method

(D) High and Low points Method

Which methods are used for apportioning service department expenses ?
(A) Graphic Presentation Method

(B) Least Square Method

(C) Comparison Method

(D) Direct method

Contribution to Employees State Insurance Scheme will be apportioned

according to

(A) Indirect Labour (B) Number of workers

(C) Direct Labour hour rate (D) Direct labour

In a factory the fixed expenses allocated to a machine per month are
% 21,000 and the Variable expenses per hour is ¥ 8. Normally the machine
works for 500 hours during the month. The machine was used on a job for
200 hours. Ascertain the overhead chargeable to the job.

(A) 8,000 (B) 12,000

(C) R 15,000 (D) 10,000

If the Prime cost is ¥ 1,25,000 and Factory overheads are I 25,000, then

what will be percentage of factory overheads on prime cost ?

(A) 15% (B) 25%
(C) 30% (D) 20%
16



